

A New Formula for π Related to a Series of Ramanujan

Problem 11-003, by JESÚS GUILLERA¹ (Ave. Cesaro Alierta, 31, esc. iz. 4º-A, Zaragoza, Spain).

Conjecture. Let

$$(1) \quad f(x) = \sum_{n=0}^{\infty} \frac{\left(x + \frac{1}{2}\right)_n^3}{(x+1)_n^3} \frac{1}{2^{6n}} \left(\frac{\sqrt{5}-1}{2}\right)^{8n} ((42\sqrt{5}+30)(n+x) + (5\sqrt{5}-1)),$$

where $(a)_0 = 1$ and $(a)_n = a(a+1)\cdots(a+n-1)$ for $n > 0$. On the basis of numerical calculations, our guess is that

$$f\left(\frac{1}{2}\right) = \frac{56 + 24\sqrt{5}}{15} \pi^2,$$

so there is a new identity satisfied by π ,

$$(2) \quad \sum_{n=0}^{\infty} \frac{(\sqrt{5}-2)(51n+35) - 3(n+1)}{\binom{2n}{n}^3 (2n+1)^3} \left(\frac{\sqrt{5}-1}{2}\right)^{8n} = \frac{8\pi^2}{15}.$$

Prove this identity.

Some Background. In [6] Srinivasa Ramanujan used modular equations to prove three similar series involving $(1/2)_n^3/(1)_n^3$, namely

$$(3) \quad \sum_{n=0}^{\infty} \frac{\left(\frac{1}{2}\right)_n^3}{(1)_n^3} \frac{1}{2^{2n}} (6n+1) = \frac{4}{\pi}, \quad \sum_{n=0}^{\infty} \frac{\left(\frac{1}{2}\right)_n^3}{(1)_n^3} \frac{1}{2^{6n}} (42n+5) = \frac{16}{\pi},$$

and

$$(4) \quad \sum_{n=0}^{\infty} \frac{\left(\frac{1}{2}\right)_n^3}{(1)_n^3} \frac{1}{2^{6n}} \left(\frac{\sqrt{5}-1}{2}\right)^{8n} ((42\sqrt{5}+30)n + (5\sqrt{5}-1)) = \frac{32}{\pi}.$$

A beautiful survey of this kind of series is given in [1], and two excellent books are [2] and [3].

Using the method of Wilf and Zeilberger in [5], we proved in [4] the identities

$$(5) \quad \sum_{n=0}^{\infty} \frac{1}{2^{2n}} \frac{\left(x + \frac{1}{2}\right)_n^3}{(x+1)_n^3} (6(n+x)+1) = 8x \sum_{n=0}^{\infty} \frac{\left(\frac{1}{2}\right)_n^2}{(x+1)_n^2}$$

¹E-mail: jguillera@gmail.com

and

$$(6) \quad \sum_{n=0}^{\infty} \frac{1}{2^{6n}} \frac{\left(x + \frac{1}{2}\right)_n^3}{\left(x + 1\right)_n^3} (42(n + x) + 5) = 32x \sum_{n=0}^{\infty} \frac{\left(x + \frac{1}{2}\right)_n^2}{(2x + 1)_n^2}.$$

Substituting $x = \frac{1}{2}$ in (5) and (6), we obtained, respectively, the formulas

$$(7) \quad \sum_{n=0}^{\infty} \frac{1}{2^{2n}} \frac{(1)_n^3}{\left(\frac{3}{2}\right)_n^3} (6n + 4) = \frac{\pi^2}{2}, \quad \sum_{n=0}^{\infty} \frac{1}{2^{6n}} \frac{(1)_n^3}{\left(\frac{3}{2}\right)_n^3} (42n + 26) = \frac{8\pi^2}{3}.$$

Status. This problem is open.

REFERENCES

- [1] N. D. BARUAH, B. C. BERNDT, AND H. H. CHAN, *Ramanujan's series for $1/\pi$: A survey*, Amer. Math. Monthly, 116 (2009), pp. 567–587.
- [2] B. C. BERNDT, *Ramanujan's Notebooks, Part IV*, Springer-Verlag, New York, 1994.
- [3] J. M. BORWEIN AND P. B. BORWEIN, *Pi and the AGM: A Study in Analytic Number Theory and Computational Complexity*, John Wiley, New York, 1987.
- [4] J. GUILLERA, *Hypergeometric identities for 10 extended Ramanujan-type series*, Ramanujan J., 15 (2008), pp. 219–234.
- [5] M. PETKOŠEK, H. S. WILF, AND D. ZEILBERGER, *A = B*, A. K. Peters, Ltd., Wellesley, MA, 1996.
- [6] S. RAMANUJAN, *Modular equations and approximations to π* , Quart. J. Math., 45 (1914), pp. 359–372.